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SN BEPEER SEIMY
g M FFEA Jgxd
Cel: SFEA 4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHZQPATANSE H=IZL L)
M 50024 *1,000&+90% 450
2 ZZ2H| 6,203 5,568 635
OA&EHISTIH 240
OCHES +ESTI1(00,pH)
240,000 1CH 240
ORZHIZX=EE 0ISHSUR=
19,800& « 12 238
Ost= NSt =Xl
4,300,000 1CH 4,300
oxg 28x 980,000 *1CH 980
O3St SBMEFEs
45,0008 %12 45
OFRQHATAI 2 BRI
4002 +1,000& 400
206 M=l 1,000 1,400 2400
01 M=4l 1,000 1,400 A400
O==Z 2N 400
OLLEXLE 100,000 48+ A 400
O=&BALE JIAHM 600
OR=M+=S 3,000 *200H 600
307 @120l & 49,164 61,968 A12,804
= 32,776
= 4,916
Al 11,472
02 2IZHBYAIAE & 49,164 61,968 A12,804
O=ZNSEEI| Xl - 28 2l N2
49,164,000 49,164
= 32,776
= 4,916
Al 11,472
P 2 IIEER 2 29,360 51,360 22,000
201 fet= 3| 7,360 29,360 A22,000
02 S3=gHl 7,360 7,360 0
oePstE )| Olsdal AHER2S
14,5002 »40CH* 122 6,960
OGPSHLI| AIEEHISXIHI
10,0002 ~40CH 400
207 ARl 22,000 22,000
01 H2E4H| 22,000 22,000
O2LA2 AIME B
22,000,000 22,000
Hes AME ZNEALE 450,016 544,533 ANHA4,517
401 AIEHIZ SR OHYI 450,016 544,533 AN4,517
01 Al&HI 446,79 540,640 A\G3,841




SN BEPEER SEIMY
g M FFEA Jgxd
Cel: SFEA 4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFEINEA (N ZTH)
446,799,000& 446,79
03 Al =2 0HHI 3,217 3,893 AB76
O=ZMEAL(NETHA)
445,799,000 %0.72% 3,217
EFLOAMHE] 2BMFAIE £X - 2S 5,824,000 730,000 5,094,000
= 4,077,000
Al 1,747,000
403 AXIEHMSAH=0IH 5,824,000 730,000 5,004,000
= 4,077,000
Al 1,747,000
02 SO 2SOt =& 2 EF A I 5,824,000 730,000 5,094,000
OFZFUUHIACK] BEHBAIL 4]
5,824,000,000& 5,824,000
= 4,077,000
Al 1,747,000
SR S HFAIE X - 2E 3,459,715 2,967,000 492,715
= 2,319,000
Al 1,140,715
403 X SHMSAH=01H 3,459,715 2,967,000 492,715
= 2,319,000
Al 1,140,715
02 2IIBSUHE =R S/ A LY 3,450,715 2,967,000 42,715
OBCUUHIICIK] BEHBAIL &%)
3,459,715,000& 3,459,715
= 2,319,000
Al 1,140,715
SEM2LHE S HFAIE X - 22 1,429,000 495,000 934,000
= 1,000,000
Al 429,000
403 TR SHMSAH=01H 1,429,000 495,000 934,000
= 1,000,000
Al 429,000
02 SISt 2 S A AEHI 1,429,000 495,000 934,000
OQFHM2LHA A 2B LNFAIE 21
1,429,000,000& 1,429,000
= 1,000,000
Al 429,000
SMMAET] BSHBAIE X - 2 1,537,000 828,000 709,000
= 1,076,000
Al 461,000
403 AXIEHHSAH=201H 1,537,000 828,000 709,000
= 1,076,000
Al 461,000
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SN BETRIREY BAYU
J

o
Xz

4 FHTA JIgtxH
Cel: SFEA 4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(@F=}= 250,000 *12r A %90% 225
ocg 100, 00021538} 2500 270
0YREDA RO
10,0002 *B0 +B3] *90% 5,760
203 gF=4| 13,500 15,000 21,500
03 A=A =T 13,500 15,000 21,500
OB JRFA 9,000, 0002 *90% 8,100
OBABY BHOH Y QAL =T
6,000, 0002 *90% 5,400
sFuUsHE 8 89 44,000 0 44,000
207 ARl 44,000 0 44,000
01 ARSI 44,000 0 44,000
OHMIA FFAl HUSHE+E EG
44,000,000 44,000
A SEots dETAl 78 3,128,679 3,345,844 A217,165
= 115,316
= 675,740
Il 315,000
= 329,697
Al 1,692,926
SHEE dEs) 585,828 629,926 N\44,008
HFIHH2R2SEAA 2Y 585,828 629,926 A44,098
201 fer23| 6,124 10,564 N\4,440
02 S3=4gl 6,124 6,124 0
OAIE2 &= X 6,124
O USHH(E223CERX)
2,481&+1,720m 4,268
Od+=s(22232EX)
2,4813748M 1,856
307 el2to| & 579,704 579,704
05 glzt?(& = 579,704 579,704
OEFIMNIBZAA 2|2 =2
579,704,000& 579,704
Al BB XY 2,542,851 2,715,918 173,067
= 115,316
= 675,740
Jl 315,000
=S 329,697
Al 1,107,098
AAMEY SEAMG A Al 4,632 5,460 A828
201 et 3| 3,732 4,460 AT28
01 At22t2l] 2,232 2,960 AT28
OHAISARY & 28AYE =8 2,232
Osl+=o 55,0002 3671 *90% 1,782




of
i’
oF
uJ

0 70

o JJ K
5 RO

-

KIO

Hlw

A 100
A 100
26,900
A 100
A100
30,000
30,000
/3,000
3,000
80,000

80,000

80,000

A 147,960

MEE
Ofl &k2h

1,500

1,000
1,000
34,100
1,100
1,100
3,000
3,000
30,000
30,000

270,000

270,000

270,000

1,500,240

Ofl &F2H

450
1,500

1,500
900

900

900
61,000
1,000
1,000
1,000
1,000
33,000
33,000
33,000
3,000
30,000
27,000
27,000
19,000
8,000
350,000
315,000

Il

7,000

28,000

350,000

H

315,000

Al
Il

7,000

28,000

350,000

iy

315,000

350,000

Al
J|

7,000
28,000

1,352,280

iy

Al

675,740

202,722

473,818

]

- SRA(E) - HIRAY

- ESS

S - B

[+00%

3

500,000 *1

HAIGH & eHiE JH|

3

SEES

b sXizell

>
o

(IR

3

n0
K
00
Bl

t

19,000,000
8,000,000

50,0002 *60H

3
50,000 »600H

100,000 * 107K

1,500,000 *1CH

At

01 M=4l
01 At22te|bl
OXEHH

206 =4I
307 212t01&

350,000,000

o
[uind

2|

el X2

E

ellol

)
=

Al




SN BEPERR SEIMY
M ol SESts dETAl 28
Hel dEEAl 3 xd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 800 0 800
01 At2teltl 800 0 800
OFI+EAoIARS| STt
100,000 8% 800
402 2IZtA=01A 1,351,480 1,500,240 148,760
[ 675,740
= 202,722
Al 473,018
03 2IZ+RAETAIS I 1,351,480 1,500,240 148,760
O=dI0IE XMelArg XI&
1,294,960,000& 1,294,960
[ 647,480
= 194,244
Al 453,236
O=2I0IE HEA X1
56,520,000& 56,520
[ 28,260
= 8,478
Al 19,782
OMiS - A2 2582 =0 120,007 116,306 3,701
101 21A4H| 59,057 57,686 1,371
04 JIZtN2 2N S 2+ 59,057 57,686 1,371
Oltds=E 253 2RY 53,084
OJlZ=s 85,0703 x8Hx26 2 3 53,084
O4i2E JI2RY= 5,973
Oo=gg=s 53,084,000& 4. 5% 2,389
(@l 53,084,000& *3.545% 1,882
OFIRLES 1,882,0002%12.81% 242
OnE:d 53,084,000 *1.75% 929
O4t=Ee 53,084,000 * 1% 531
201 er23y| 14,330 14,500 A170
01 AtR2t2|HI 14,330 14,500 AT70
O0rlsAlZ ES ot S
70,0003 *10JH 2= %90% 630
ORFMOIESE ¢ EE2=2 HH
1002 *10,0000H*90% 900
OltiS= L2 2AR HA+
100,000 4 & »23] 800
ORZ MAIX 2F Y| 12,000,000 12,000
206 M=l 9,120 9,120
01 M= HI 9.120 9.120
O0tdlsS= F & 9,120
OSot0l S 58 2,000,000& 2,000




SN BEPERR SEIMY
M ol SESts dETAl 28
Hel dEEAl 3 xd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHoMES SXIAEOIIN S)
34,0002 *180H 6,120
O0td=s= %0l 200,000 +55 1,000
301 EetE2 NS 37,500 35,000 2,500
14 0Bt 2a3 37,500 356,000 2,500
O0tlsE PLRF AHIEH 37,500
Oz = diE A 50,000& »6004 30,000
Oss = dH 0l 2
25,0003 %3002 7,500
OF S S LIoH0 &AL 98,952 167,800 \68,848
= 49,476
= 14,843
Al 34,633
402 2I2F X201 & 98,952 167,800 68,848
= 49,476
< 14,843
Al 34,633
02 QI X2 AL EE(OIETHE) 98,952 67,800 31,182
OOIMES TIFHMLAIE SX
98,952,000& 98,952
= 49,476
< 14,843
Al 34,633
OFSE TioHoe 2,000 6,000 24,000
201 er2 3| 2,000 6,000 24,000
2 s5=34l 2,000 6,000 24,000
OOMMEE T SIXI7I ST
200,0002*10CH 2,000
Orlis= Iloi 2at 57,600 64,000 6,400
== 17,280
Al 40,320
301 22N = 57,600 64,000 26,400
< 17,280
Al 40,320
14 IIEt2 8= 57,600 64,000 26,400
OOrdsS=0l 28t Loi24
57,600,000& 57,600
= 17,280
Al 40,320
Or== HoHE XIS KI& 184,810 225,000 240,190
== 32,400
Al 152,410
201 =3 30,960 54,000 A23,040
01 AtR2t2lt] 10,160 33,000 N22,840




SN BEPERR SEIMY
M ol SESts dETAl 28
Hel dEEAl 3 xd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFoHOIESE 22 =olH
40024 +6,0000H*90% 2,160
O0IsA! AbHIHM eI 8,000,000& 8,000
02 S3=gHl 20,800 21,000 A200
Ootds= maigXt 282 (509)
276,000 *50& 13,800
OFMNOLES=E Z2ACIANLE FA2e
140,000 *50CH 7,000
206 M=l 5,850 6,000 2150
01 M=4l 5,850 6,000 A150
OulcHgAt 28 225 5,850
OUliYRIE AEE 25
90,0002 *50& 4,500
OsfiE(d=I] S)I1IlH
7,500 180K 1,350
301 LEtE N = 138,000 165,000 A27,000
= 29,400
Al 108,600
14 JIEt2as 138,000 165,000 A27,000
OOtMSS(NHX) ZE2a3
40,000,000 40,000
OorMsS(1et) ZEB4Z
98,000,000 98,000
= 29,400
Al 68,600
405 KHoHFSHI 10,000 0 10,000
= 3,000
Al 7,000
01 L ESFISHI 10,000 0 10,000
OO0RIEAIE 7 5,000,000 =2CH 10,000
== 3,000
Al 7,000
MEf A wet 4= &K 116,700 100,700 16,000
= 50,000
== 15,000
Al 51,700
101 e124d| 60,000 60,000 0
= 30,000
= 9,000
Al 21,000
04 JIZtN2Z2XNSE+ 60,000 60,000 0
OdEiAHwet 4= EX JIZHHZZ2X 212
(304, 48) 57,500,000& 57,500
= 28,750
= 8,625




SN BEPERR SEIMY
M ol SESts dETAl 28
Hel dEEAl 3 xd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 20,125
O42E JI2RY= 2,500,000 2,500
= 1,250
= 375
Al 875
206 M=H| 700 700
01 M=8l 700 700
OME AL M2 EXNHY BES(SE, /¢
90l S 700,000 700
401 Al HIZL 01| 40,000 40,000 0
= 20,000
== 6.000
Al 14,000
01 Al&HI 40,000 40,000 0
OdE A wet M= EX 40,000,000 40,000
= 20,000
=S 6,000
Al 14,000
405 KHaHE SH 16,000 16,000
01 AL =S F=HI 16,000 16,000
OMEHE HEF LEEY
4,000,000 =4CH 16,000
OLZCIDtHXIEE UHSAS 31,680 30,200 1,480
= 15,840
< 4,752
Al 11,088
201 er23| 19,200 0 19,200
= 9,600
== 2,880
Al 6,720
01 At22t2lt] 19,200 0 19,200
OO0F4SE AFMIXelH] 19,200,000 19,200
= 9,600
=S 2,880
Al 6,720
301 22N = 12,480 8,200 4,280
= 6,240
=S 1,872
Al 4,368
14 0Bt 2a3 12,480 8,200 4,280
OOtZRIItH XIS H (ASF) B AL AIZHF I, H
AHMI X eld] 12,480
OAIZIHFHI 30,0003 %4000t 2| 12,000
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(8!
I

oF
0J
=)
=
&0
R0
oy
I+
=
& 0
%0
0 R0
o o1
-
WE D
o 80 80
1) OH OH
R0 R0 ®r
o %0 o)
X &M oF
IF R0 O)

-

KIO

Hlw

4,010
6,060
6,060
A2,920
N2,920

A\8,640
A8,640

MEE
Ofl &k2h

5,189
1,278
65,960
65,960
25,360
25,360

26,400
21,600
4,800

14,200

6,000

ol &rey

600
600
2,385
1,680
1,536

10,152

1,000
5,288
5,288
1,666
214
823
470
59,900
59,900

2,115

22,440

9,000
13,440
17,760
12,960
12,960

4,800

4,800
14,200

6,000

6,000

4,600

4,600

4,000

- SRA(E) - HIRAY

- ESS

S LRE-L

3

50,0008 x1&* 122
90,3202+ 1 x 17

50,0002 x 18 x 122
2,384, 240 +50%x1H+2

140,000& x 1= 123
16,9203 *50AI 2t 1+ 123

HH|

o

o4

I

<0

HIA &1

<N
K0
I+
J

1,000,000&
46,995,000 *4. 5%
46,995,000 *1.75%
46,995,000 * 1%

46,995,000 +3.545%
1,666,000&%12.81%

01 AF22t2ltl

=3

HI(O1E&HI)

RO
il
%0
ok

ol
il

450,000 x20H

8,000& 20 7L+ 122
20,0003 x18H 32« 122
200,000& x2H 128

)

El
[=]

IS
!

q

A

O=UoibI(O1=ZHI)
OZ MO (Xt

01 =LHOHI
02 A0

202 OH|

Kl
KF
aoF
oD

5,500

4,600

3,600

600
3,600
3,600

5,500

6,000,000
40,0003 1004
30,000& «20H
300,000& =128

pumy
=

H(4
bl

Z K (400HNHAI)

Z=OH (100 DHXI)

OF)
o2

405 Xt




=
=
&0
R0
ol

o+
AN
Rl O
R0 7
R0 RO
o )

of
i’
oF
uJ

-

KIO

Hlw

5,500

MEE
Ofl &k2h

Ofl &F2H

5,500
5,500

By

SA - Z3F - SRA(E) - HRAEY

01 Xbatsd

5,500,000 = 1CH

O=A|




Al A

A SF2e2] I
M ¥ HRE oI E =4
oRlr 3FE 2050 S$aSE 0l Hat (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
s@ae|22 = 35,171,017 %,215,234 A61,044,217
= 18,393,888
s 165,000
| 309,500
= 4,728,934
Al 11,573,69%
9fn JNRE toIEd &4 34,977,781 9%,009,920 A61,082,139
= 18,236,598
s 165,000
| 309,500
& 4,728,934
Al 11,537,749
HFE 20600 ©@HASE 01 2§ 718,885 792,370 73,485
J| 309,500
Al 409,385
JIZRID| tHaxzd 78,770 158,970 A80,200
201 L2 | 36,970 54,970 A 18,000
01 At 22|l 36,970 54,970 A 18,000
O24ItA HHEH HlM d3+=2
18,000,000 & 23] 36,000
Oti&Ed s=2Hella H3ldl
850,000 & *13] 850
OHIE& Hell T2 HolZeIoIsM A
[ = 120,000 *13] 120
203 AR F&lY| 1,800 2,000 A200
03 Al FRIHRFXIY| 1,800 2,000 2200
OJIFUIIHBHR =&
2,000, 0002 *90% 1,800
207 A IHLH| 40,000 100,000 260,000
01 21 E9H| 40,000 100,000 260,000
Q2023E ST 240tA HIES MM &Y
20,000,000& *13] 20,000
Q02435 22014 HIEE MEAHEA &Y
20,000,000 *13] 20,000
ESASENRAH 2S XA 200,000 200,000 0
| 100,000
Al 100,000
307 2I2+01 A 200,000 200,000 0
| 100,000
Al 100,000
02 QIZtBAAIE E R 200,000 200,000 0
OEAZEHXAHH 2Z XA
200,000,000& 200,000
| 100,000




FA BE2U2F JI=UHII
M 9f] WRE 0DIBE FA
ol HFE 2050 BASE Ol Hat EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 100,000
EBASEsMEERER 2Y 7,000 0 7,000
201 et 3| 7,000 0 7,000
01 Al 22| 7.000 0 7,000
OHFAl 50 BAZY=MLRIAS BA
=g 100,000 x10E #7323 7,000
BASEIEIEN 0UXIZ20F 2 346,115 299,200 46,915
Jl 166,000
Al 180,115
201 eer23| 14,115 3,200 10,915
01 AtR2t2|HI 14,115 3,200 10,915
OBAZTEHEQE Ot & AMEA M
1502 +7,0000H+90% 945
OBASHIEQIE Ity 222 MA
1,000 *1,8007H*90% 1,620
OAlUB A Z10H| 11,550,000 11,550
301 EtE N = 332,000 296,000 36,000
) 166,000
Al 166,000
14 JIEt 243 332,000 296,000 36,000
OHASEIEQEN JtII7 HEIE Xs 332,000
OQIdIEIE XIS (OHe)
10,0002 %30, 2001 CH 302,000
Jl 151,000
Al 151,000
OQIHIEIE XIS (EXI)
2,000,000 * 151 £ 30,000
) 15,000
Al 15,000
BASEREEN NS0t 23 87,000 92,200 25,200
Jl 43,500
Al 43,500
301 LEIE NS 87,000 92,200 25,200
Il 43,500
Al 43,500
14 IIEt2 83 87,000 92,200 A5,200
OXtSIt S$HASHELIENM QHEIE X2
50,0002 *1, 740CH 87,000
Jl 43,500
Al 43,500
HGD etMEr UoIetE =4 1,947,772 5,053,866 A3,106,094
= 740,390
= 165,000
& 141,042




FA BE2U2F JI=UHII
X‘I;_(H: Q_IFJ_)_ )JHJ/%@- EH |3|-31 I/\‘|
el BESID oHEB (|Ed =4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 901,340
OIMIBIXl S UCHIE olg ZAl XI#(34) 330,000 330,000 0
[ 165,000
Al 165,000
101 21AH| 330,000 330,000 0
[ 165,000
Al 165,000
M ORNZZ2NSE S 330,000 330,000 0
OOIMIZIX SHUCIHE 0 Al Q12AHI(1
48+8) 299,600,000 299,600
= 149,800
Al 149,800
O4i2E JIARE= 30,400,000 30,400
[ 16,200
Al 15,200
A2 AMEE SXAE X X 666,000 3,240,000 A2,574,000
= 370,000
= 88,800
Al 207,200
402 2I2F X201 & 666,000 3,240,000 A2,574,000
= 370,000
= 88,800
Al 207,200
02 RIENZAEEZ(0IETHR) 666,000 3,240,000 A2,574,000
O AIEE 2AAE EX XA 666,000
OYXAIE 72,000,000 *4CH 288,000
= 160,000
= 38,400
Al 89,600
OAFSIE ! (10T) 3,150,000 +120CH 378,000
= 210,000
= 50,400
Al 117,600
=S ASEEIPD| EX - 22t N2 A 73,980 91,200 17,220
= 49,320
= 7,398
Al 17,262
402 2IZtA=01d 73,980 91,200 A17,220
= 49,320
= 7,398
Al 17,262
02 QI X2 AL EE(0IETHE) 73,980 91,200 A17,220




FA BE2U2F JI=UHII
S 9f JiRe toletE &d
el BEGID OHEE [f0IBHE X4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZENE=FID| &7 - 2g@elyl A
73,980,000& 73,980
= 49,320
[ 7,398
Al 17,262
JtAEEI Aty 4X XNZ A 154,350 63,000 91,350
= 85,750
[ 20,580
Al 48,020
402 QI2F X201 & 154,350 63,000 91,350
= 85,750
s 20,580
Al 48,020
02 QI EASEZ(0IETHR) 154,350 63,000 91,350
oJAggT duty)| ZX X3 At
3,150,000 «49CH 154,350
= 85,750
=S 20,580
Al 48,020
NEE N=sA222 E5AHY 202,200 860,000 657,800
= 121,320
=S 24,264
Al 56,616
402 2I2F X201 & 202,200 860,000 657,800
= 121,320
= 24,264
Al 56,616
02 QI XHZ AL E R (01X THE) 202,200 860,000 657,800
OJEE MN=sA22e E=SME 202,200
OMasE 600,000& *337CH 202,200
= 121,320
= 24,264
Al 56,616
oI & XNSIHHEILA 2t 11,800 13,100 1,300
201 et 3| 11,800 13,100 1,300
01 At2t2l] 8,800 10,100 A1,300
OUlI2E=E A= MH U2
1,240,000 #5042 6.200
OMHEHEZ HICIItHe HAEZEX]
100,000 *23] 200
OTEXNZ(HMIIXSI) =XH2=
100,000 x2CH* 122 2,400
2 S22l 3,000 3,000 0




FA BE2U2F JI=UHII
S 9f JiRe toletE &d
el BESID oHEB (|Ed =4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZSIHS(MIIXSK) K22l
1,500,000 *2CH 3,000
A IEE RUSFFID| 2l 97,620 107,070 29,450
201 er=23y| 97,620 107,070 9,450
02 S3=gHl 97,620 107,070 29,450
ORI FH=FI| 24| 8,520
OHHA 23 (2LIHEPC)
110,000« 12& 1,320
Ose2s(Z53I)
15,0002 #27CH* 12 4,860
(OFSPIEe=) 5,000 +27CH* 122 1,620
ONMSEXN SHRS(LREE 2HE)
60,0002 «12& 720
ORUAFHZ=HI| AEEHI=AH
3,300,000 *27CH 89,100
28NUSEYI| FEEA =52 100 200 2100
201 fer23y| 100 200 A100
01 AlR 2218 100 200 A100
OASESHI| HEAA 248
100,000 *1CH 100
&0 28 =3 Il 2 70,000 0 70,000
405 KHaHE SH 70,000 70,000
01 AL =S F=H 70,000 70,000
oY =& FHI(FCH, E=A)
70,000,000 *1SET 70,000
=48 UlohEa=E Ns 216,522 98,472 118,050
101 @12A4H| 5,444 27,588 N22,144
MU IIRINZZE2NSES 5,444 27,588 N22,144
OZAs B4R JIZN2Z A 4,891
OoJlzs 78,8803 1 »62 4,891
OCAES JI2RE=2 553
O=2ld=s 4,891,000 *4. 5% 221
(OFaksi--bs 4,891,000& *3.545% 174
OFIIRULEE 174,00021%12.81% 23
ounsEs 4,891,000 *1.75% 86
O4tiEe 4,891,000 * 1% 49
201 er23 | 71,078 70,884 194
01 At2teltl 13,078 7,084 5,994
O&IHOHHE & ZHSNAM M 13,078
OXELHHZ MH 4873 *14,0000H 6,818
OtIEM(E=H) 45 %20,0000H 900
OZESXNA MZ 268% *20,0000HK 5,360
02 S5=2g4l 58,000 63,800 /5,800
ORER= 58,000




FA BE2U2F JI=UHII
S 9f JiRe toletE &d
el BESID oHEB (|Ed =4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooggt 4002 +20,000S 8,000
oSl 2,500&+20,000& 50,000
308 AtXIEMSOIE 140,000 140,000
07 MR E = 140,000 140,000
OZBUIBEY - 2AIAT 2K MEHEA
HAEH 140,000,000 140,000
NEASUHY2AARS] 2E 2,000 2,400 2400
201 el 2,000 2,400 A400
01 At2t2ltl 2,000 2,400 2400
O3 BH+E 100,0003 #5& *43] 2,000
ZAS BAYR IAHI(D12EH) 114,000 85,500 28,500
= 114,000
101 e124d| 114,000 85,500 28,500
= 114,000
04 JIZtN2Z2 XS 2+ 114,000 85,500 28,500
OJIZtHIZ22 X 21244| 102,600,000& 102,600
= 102,600
O4i2E JIARY= 11,400,000 11,400
= 11,400
SHINERYES = 2 9,200 9,200
201 Ler23| 9,200 9,200
2 s5=34l 9,200 9,200
OJtaH Rt == A A RRI 2=
2,300,000 *43] 9,200
OISR HAEele BEEA &4 32,311,124 90, 163,684 /57,852,560
= 17,496,208
= 4,587,892
Al 10,227,024
Al OIMISR 2] i 2133 29 2,400 3,200 2800
201 er2 3| 2,400 3,200 A800
01 AtR2t2|HI 2,400 3,200 A800
OFITa &4+d 100,000 x8 & *32| 2,400
ABSEHEY 229G 182,692 234,450 A51,758
201 =3 137,692 185,700 18,008
01 At22t2lH] 53,730 67,200 213,470
OUINEX ZB2H & HEMBEX 82 2,250
Ol =9 50,0003 *507H*90% 2,250
OXMIHAEIH(-3B) I
320& %10, 0000H*90% 2,880
OUJIEEd=3Y F=ZAH|
5,400,000 *9IH 2= 48,600
2 35244l 83,962 88,500 N\4,538
OIS AZE 2HHI(HE) 41,480




2A:

3 JHRE D128 =4
cHel: DIMSIT 21Eols HETAl X4 (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSPIEei=; 513,000& «2CH* 12& 12,312
Oostes 144,000 x1CH* 122 1,728
OsXl2eld| 27,440
A2 () 18,240,000 * 104 2 18,240
-QE US| (SH)
9,200,000 *1JH 2~ 9,200
ol 2T 2HH|(4H +&) 7,160
Ostes 45,0003 ~40H+ 122 2,160
O AI2elt| 1,250,000 2 #4042 5,000
OOIMZA &2l dss 22| 5,622
OFSPIEei=) 23,0003 =2 A+ 123 552
Ostles 10,0002 %130 A% 123 1,560
OsXl2eld| 270,000 * 1370 2 3,510
oty|etEEdY 23y 29,700
OoNIIR3 230,000 x90H A 123 24,840
Oostes 45,0003 x990 A+ 128 4,860
206 MH=H| 45,000 45,000
01 M=4l 45,000 45,000
ouJd=dy 228 Ul 45,000
OANZ ZE % DF It~ S
5,000,000 *97H A 45,000
NSt 2t 57,346 67,700 A10,354
201 er23| 57,346 67,700 10,354
2 s5=34l 57,346 66,350 9,004
OXtSXH 2EMIEH AIAE(CCTV) 2] 45,278
o&IIe3 27,0002 «20CH* 122 6,480
Oosties 1,400,000& ~12& 16,800
O Xl2eld| 1,833, 1002« 128 21,998
oR#ERs 9,130
oggt 4002 +7,200S 2,880
OSJI 2,5003 +2,5005 6,250
Ot MXDIX tUHE &S
2043 %7, 200CH*22] 2,938
Uolsta3=dd !X 297,000 297,000 0
= 89,100
Al 207,900
201 er23| 297,000 297,000 0
= 89,100
Al 207,900
02 S3=gHl 297,000 297,000 0
OR X2l 33,000,000 *9IH 2 297,000
== 89,100
Al 207,900




2A:

X XH -
o=

SRR JISHDID

chel: OIMIZX —*.é:SIE %’éﬁc/\l =4 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oletad=a8y £x 150,000 150,000 0
= 75,000
== 37,500
Al 37,500
401 Al HIZL S 0HYI 150,000 150,000 0
= 75,000
=S 37,500
Al 37,500
01 AlZ28| 150,000 150,000 0
oly|2FEZY ==&Hl uA
150,000,000 * 14 2 150,000
= 75,000
= 37,500
Al 37,500
tolegael 373,780 322,080 51,700
201 2= 373,780 322,080 51,700
01 AtR2t2lt] 315,700 264,000 51,700
OB & at=Xt LI
45,100,000& +7CH 315,700
2 s5=34l 58,080 58,080 0
OloT DIMIEXIZtE] £28 NHIARS
231,0002 «200H 2xx 12 55,440
OloT OIMIEIXI 22| 28 SRS
11,0003 x2004 2% 123 2,640
LIHA POK(MIISE) 12,240,000 24,900,000 12,660,000
= 6,120,000
s 2,448,000
Al 3,672,000
402 2I2F X201 & 12,240,000 24,900,000 212,660,000
= 6,120,000
= 2,448,000
Al 3,672,000
02 QI XHE AL E R (01X THE) 12,240,000 24,900,000 12,660,000
oLRtIEgEg MIINSH 7 NA(S52)
8,000,000 *1,530CH 12,240,000
= 6,120,000
= 2,448,000
Al 3,672,000
ST RONKIR(&DIE=2) 6,398,400 15,598,000 29,199,600
= 4,092,000
= 446,400
Al 1,860,000
402 2IZtA=01d 6,398,400 16,598,000 29,199,600
= 4,092,000




2A:

X XH -
o=

SRR JISHDID

chel: OIMIZX —*.é:SIE %’éﬁc/\l =4 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 446,400
Al 1,860,000
02 QI X2 AL EE(0IETHE) 6,398,400 16,598,000 29,199,600
ORIA=EZE MIINSK 7 X (32)
17,200,000 372CH 6,398,400
= 4,092,000
< 446,400
Al 1,860,000
PIMX FOHR(HIISESE) 560,000 1,120,000 A560,000
= 280,000
[ 56,000
Al 224,000
402 QI2F X201 & 560,000 1,120,000 A560,000
= 280,000
== 56,000
Al 224,000
02 BIINEASEX(0IETHR) 560,000 1,120,000 A560,000
oLriEgEg MIINsSK 78 N2 (SEs
&) 140,000,000 *4CH 560,000
= 280,000
s 56,000
Al 224,000
HII0IE X2 SALE 123,200 160,000 A36,800
= 61,600
Al 61,600
402 QI”F X201 & 123,200 160,000 236,800
= 61,600
Al 61,600
02 QI A2 AL E R (0IHTHE) 123,200 160,000 36,800
oetEgE MII0IEX 7 X
1,600,000 *77CH 123,200
= 61,600
Al 61,600
SIHA PR (=ASE) 4,824,000 12,730,000 AT7,906,000
= 3,240,000
=S 475,200
Al 1,108,800
402 2I2F X201 & 4,824,000 12,730,000 A7,906,000
= 3,240,000
= 475,200
Al 1,108,800
02 QI X2 AL E R (01X THE) 4,824,000 12,730,000 AT7,906,000
O=A&IIXt 7 X2
33,500,000 *144CH 4,824,000




FA BE2U2F JI=UHII
Ma: 9t JWRE (OISR T4
Sl DIMISIN 2Fes HEEAl X4 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,240,000
=S 475,200
Al 1,108,800
LPGIIARIE F&Hl X 50,000 413,000 A363,000
= 25,000
= 7,500
Al 17,500
402 2I2F X201 & 50,000 413,000 A363,000
= 25,000
= 7,500
Al 17,500
02 QI X2 AL E R (01X THE) 50,000 413,000 A363,000
OOCIBI0ISE At LPAIAXE MEr K&
5,000,000 *10CH 50,000
= 25,000
= 7,500
Al 17,500
AR IEIA MZAI(EIIHXXIY) 5,695,380 12,922,205 NT,226,825
= 2,841,840
= 852,552
Al 2,000,988
201 er2 3| 11,700 22,485 A10,785
01 AtR2t2|HI 10,000 18,000 /8,000
OLBAST T ME ADHLLE
5,000& »2,000CH 10,000
02 s3=gbl 1,700 4,485 N2,785
oRERS 1,700
Oggt 4002 +3,000S 1,200
oSl 2,500& %2008 500
402 2IZtA=01d 5,683,680 12,899,720 A7,216,040
= 2,841,840
= 852,552
Al 1,989,288
02 QI THEAIE EE(0IETHE) 5,683,680 12,899,720 AT7,216,040
OFIKA RIIHX X (5&52)
1,600,000 799CH 1,278,400
= 639,200
S 191,760
Al 447,440
OL=ARI ZIIHX XA (4s2)
3,700,000 *1, 114CH 4,121,800
= 2,060,900
= 618,270
Al 1,442,630




2A:

X ZH -
o=

=9l Ol SIS (Er9:&e)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2ARA ZIIHT N (A1)
3,730,000 *76CH 283,480
= 141,740
[ 42,522
Al 99,218
LRI HEIHA M2ZAI (28X MBHEXI) 340,200 752,400 A412,200
= 170,100
[ 51,030
Al 119,070
402 QI2F X201 & 340,200 752,400 A412,200
= 170,100
s 51,030
Al 119,070
02 QI EASEZ(0IETHR) 340,200 752,400 A412,200
O-Z=ERAt HAMZEXI(OPF) 5 X
3,300, 0002 «94CH 310,200
= 185,100
=S 46,530
Al 108,570
O1E a=xt dS3t 15,000, 0002 =2CH 30,000
= 15,000
=S 4,500
Al 10,500
AR ISOtA MZAMS (HEIIH HBHEX) 976,500 907,500 69,000
= 575,900
S 120,180
Al 280,420
402 2I2F X201 & 976,500 907,500 69,000
= 575,900
= 120,180
Al 280,420
02 QI X2 AL E R (01X THE) 976,500 907,500 69,000
OAEIH AMTUH K&
16,500,000 +47CH 775,500
= 465,300
= 93,060
Al 217,140
OHEIIH OPF K& 11,000, 0002+ 1CH 11,000
= 6,600
= 1,320
Al 3,080
OZFXANXESEHeIS0l2 HHEe+elfel
&) 90,000,000 = 1CH 90,000
= 54,000




2A:

X XH -
o=

SRR JISHDID

chel: OIMIZX —*.é:SIE %’éﬁc/\l =4 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 10,800
Al 25,200
OFI|I=Z=)| 32X
20,000,000 +5CH 100,000
= 50,000
= 15,000
Al 35,000
23012t JUEX 85K 2l 29,536 45,149 A 15,613
= 14,768
= 4,430
Al 10,338
402 QI2ERH=0IN 29,536 45,149 A15,613
= 14,768
= 4,430
Al 10,338
02 QIZEXHE A 2= (01 THE) 29,536 45,149 A15,613
oZ2cld 150,000 = 134CH 20,100
= 10,050
& 3,015
Al 7,035
ogrg 23| 10,0002 *90CH 900
= 450
= 135
Al 315
O A} ¥ 22y| 24,0002 x213CH 5112
= 2,556
= 767
Al 1,789
(©Lly=3=@ 1] 19,0002 *92CH 1,748
= 874
T 262
Al 612
OMAIZEX 2alY 150,000& = 10CH 1,500
= 750
T 225
Al 525
oL 44,0002 *4CH 176
= 88
= 26
Al 62
SIS 7S 2| 10,690 11,000 A310
201 B2 AL| 10,690 11,000 A310
01 ArR22ltl 2,000 0 2,000




FA: SF2e=R JI=UHIIH
i 9 JHRE
2

¢l DIMIRX —*.é:SIE %éﬁc/\l =4 (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OFIINt BRI 2F BH 2,000
OB+ U B2 PHUSE K
50,0002 «10& 500
Osd7 oY S2U(HIRE) M
20,0003 *75& 1,500
2 S5=24g4l 8,690 11,000 A2,310
oRER= 8,690
oggt 4002 +1,100S 440
OsI 2,500&%3,300S 8,250
HY2AAH(BZ 2222 JIFUII) 193,236 205,314 12,078
= 157,290
Al 35,946
el 2| 157,290 167,290 0
= 157,290
TAs E4YR AHHI(SR) 167,290 157,290 0
= 157,290
101 21A4H| 148,990 148,990 0
= 148,990
01 &= 148,990 148,990 0
oJlzs 111,284,400 111,285
= 111,285
(OGRS, 15,221
ouesar-< 3,666,360 3,667
= 3,667
od2=+g 9,273,700 9,274
= 9,274
OZ2x=gtit= 2,280,000 2,280
= 2,280
OJtEx=E 1,680,000& 1,680
= 1,680
O ] 1,320,000 1,320
= 1,320
OdHZAHI 5,040,000& 5,040
= 5,040
OE &=l 5,564,220 5,565
= 5,565
ORI 222 2,398,320& 2,39
= 2,39
(OFSF= N ] 6,480,000 6,480
= 6.480
204 AR A 1,800 1,800 0
= 1,800
02 SLR3H 1,800 1,800 0




FA BE2U2F JI=UHII
A HZYRAZH(BFZALIE2R JI=UIID)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oulg syl 1,800,000 1,800
= 1,800
WM HSEE=S 6,500 6,500 0
= 6,500
2 =uAHBEE= 6,500 6,500 0
OHZ=EE JIAREE= 5,800,000& 5,800
= 5,800
OWNRLEE J|I2F52 700,000 700
= 700
Jl=3H| 35,946 48,024 12,078
Jl=23H] 35,946 48,024 12,078
201 Ler23| 19,386 22,824 A3,438
01 At2teltl 19,386 22,824 A3,438
QJ12d2+=AA3HI(01=3)
450,000 * 18 *90% 7,290
ozgt(01=3dl)
8,000« 18 +7 2 * 122 12,096
202 04l 12,960 21,600 A\8,640
01 2LHoIH 12,960 21,600 /8,640
O=UobI(O1=Z2HI)
20,0002 x 18«32 x 12 12,960
203 HR=4Y] 3,600 3,600
MU FAZSLIFAI 3,600 3,600
O©J1E2(2021015t) 300,000 * 122 3,600
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2A:

T 5% x4
chels 365 WRRe B (SH9 H2)
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= 88,000
Al 88,000
01 Al=2H| 176,000 0 176,000
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SN BHBRlER A
33 90 HRet FEEA FF &4
el HEst Hols2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=HUgHII= =28 iz
400,000 =1 400
OHDIE e 02448
300,000 *62 1,800
OmHVI=YM XN=&EZ LI=H| 2,320
oge= 190,000 +8Y 1,520
Ol 5t 100,000 2 8% 800
02 S3=gl 5,260 4,300 960
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Oo=&dl 28= 2,000
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